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TD &5l 3,842 5,741 7,700 9,720

BD &3l 5,930 7,920 9,972 10,970
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FARE REAE A 3,842 5,741 7,700 9,720
E1EERB(DL) 3,842 3,842 3,842 3842
E2a B RA(1D2) 1899 1,899 1,899
E3EERM(ID3) 1,959 1,959
B4EERA(TDA) 2,020
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TD1 : 100,000%2% + (98,000%1.05)*1.79% =2,000+1,842=3,842

TD2: ((98,000*1.05)—1,842)*1.05*1.79% =101,058*1.05%1.79%=1,899
TD3 : ((101,058*1.05)—1,899)*1.05*1.79% = 104,212*1.05*1.79%=1,959
TD4 : ((104,212*1.05)-1,959)*1.05*1.79% =107,464*1.05%1.79%=2,020
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BD1 : (100,000*1.05)*2.79% +100,000%3%(CDSC) = 2,930+3,000 = 5,930

BD2 :

((100,000*1.05)-2,930)*1.05*2.79%+100,000*2%(CDSC)=102,071*1.05*%2.79%+100,000*2%=2,990 +
2,000 = 4,990

BD3 : ((102,071*1.05)-2,990)*1.05%2.79%-+100,000*1%(CDSC)=104,184*1.05*2.79% +100,000%1%
=3,052+1,000 =4,052

BD4 : ((104,184*1.05)-3,052)*1.05%1.79%=(106,341*1.05)*1.79% =1,999

[6f : 38R TD RAIBE W Z HEEERES 1.79%)]
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AR R R 3,852 5,762 7,731 9,762
B1EEBM(DL) 3,852 3,852 3,852 3,852
B2EERA(TD2) 1,910 1,910 1,910
F3EERA(D3) 1,969 1,969
BAEERM(TDA) 2,030
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TD1 : 100,000%2% + (98,000%1.05)*1.80% =2,000+1,852=3,852

TD2 : ((98,000%1.05)-1,852)*1.05*1.80% =101,048*1.05*1.80%=1,910

TD3 : ((101,048*1.05)-1,910)*1.05%1.80% = 104,190%1.05*1.80%=1,969

TD4 : ((104,190*1.05)-1,969)*1.05*1.80% =107,431*1.05*1.80%=2,030
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BD1 : (100,000%1.05)*2.95% +100,000%3%(CDSC) =3,098+3,000 = 6,098

BD2:
((100,000*1.05)-3,098)*1.05*2‘95%+100,000*2%(CDSC):101,903*1.05*2.95%+100,000*2%:3,156+2,0
00 = 5,156
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SAEEERT4) 2,219
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T1 : 100,000%3% + (97,000*1.05)*2.00% =3,000+2,037=5,037

T2 : ((97,000%1.05)-2,037)*1.05*2.00% =99,813*1.05*2.00%=2,096
T3 : ((99,813*1.05)-2,096)*1.05*2.00% = 102,708*1.05*2.00%=2,157
T4 - ((102,708*1.05)—2,157)*1.05*2.00% =105,686*1.05*2.00%=2,219
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(55 &8I - B BBIGWEIEHETHRBE R 3%  HEBEEN 1%  DRAFEE—FEED &
WOEIESH EFEEIEE 2%  RAR BB LS RINEERE > LR WEEHEFEE  DULERHE  8I8E
EER-—FRELEANITERWERTEHETEE - HESBR-_FEE BB T KA -]

B1 : (100,000%1.05)*2.38% +100,000*3%(CDSC) = 2,499+3,000 = 5,499

B2 :

((100,000*1.05)-2,499)*1.05*%2.38%+ 100,000%2%(CDSC)=102,501*1.05*2.38%+100,000%2%=2,561+2,0
00 = 4,561

B3 : ((102,501*1.05)-2,561)*1.05%2.38%+100,000*1%(CDSC)=105,065*1.05*2.38% +100,000*1%
=2,626+1,000 =3,626

B4 : ((105,065*%1.05)-2,626)*1.05%2.00%=(107,692*1.05)*2.00% =2,262
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